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MROYFY (FRE-RBSREDIFY) —f2 10,510 8,910
AERE 6 F ki 20,780 19,180
(DPT-IPV-Hib) 6FE 19,880 18,280
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B2 —f2 6,800 5,200
1E\WIZRUA (FRSEAE) 6 F ki 10,800 9,200
6 F U E 9,820 8,220
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SERSE —f2 16,880 15,280
WS, 6 F i 5,400 3,800
6 F U E 4,600 3,000
HibJyF> — 9,260 7,660
FEABKEDIF> (2 3 1) 6 F K% 9,710 8,110
(Z1-EAHANPYYY") 6 FE 8,910 7,310
FEABKEDYF> (1 51i) 6 F K 12,300 10,700
((NURETNPYPIES 5= DUPP) 6 F LU E 11,740 10,140
FEABKEDIF> (1 34i) 6 F K% 12,400 10,800
(7° U\ $- 13K IR E) 6 F U E 11,600 10,000
ABIFF 6 FKi 9,110 7,510
6 FE 8,210 6,610
B RUFFA 6 K 6,900 5,300
6 F U E 6,100 4,500
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0592 —f2 15,400 -
057v9 —1& 10,250 -
BRABIIFY (S RERER) —f2 22,000 20,400
4 MBEREREDIFY (AITYRIMEHEE) 6 F ki 26,940 25,340
6 F UL 26,040 24,440
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BBFIZRIIFY (94T LTATA) 6 FKi 10,200 8,600
6 F Ut 9,400 7,800
FLOH 6 F K 4,180 -
6 FE 3,360 -
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